

03/13/2025 09:00 AM | Install Day 1 03/14/2025 09:00 AM | Install Day 2 03/15/2025 09:00 AM | Event Date 03/15/2025 09:00 AM | install day 3 03/16/2025 09:00 AM | Strike - PO: Shipping Address: NYA East and west Mindy Weiss 942 S. Detroit Street Los Angeles, CA 90036

Invoice Date:

Due Date: Upon Receipt

Salesperson: Romina Manolio

Description		Qtty	Price		Total
Ceremony:					
	Custom Made Fabric Treatment to Create Backdrop for Ceremony This is aprox Pricing	1	\$2,500.00	Т	\$2,500.00
			Total Ceremo	ny :	\$2,500.00
Walk to Cocktail					
	Coffee Tables - Toronto - Rectangular Wood Top Painted in Off white with Details in Sunset Colors 36"W x 22"L x 17"H - Frame Color & Top Upon Request	1	\$0.00	Т	\$0.00
	Garden Sofas - Shakespeare Garden - Metal Painted in Off White with Details in Sunset Colors 79"W x 33"L x 31å H	1	\$0.00	Т	\$0.00
	Custom Made Cushions in Sunset Colors Rust Como Velvet	1	\$175.00	Т	\$175.00
	Custom Mix and Match Sunset Color Pillows Rust Como velvet - Safron Monaco Turmeric Monaco	6	\$10.00	Т	\$60.00
	Custom Made Table cloth For stand up table 36"x 40" Table from T&C FAbric Ivory Dupioni Painted in Sunset Colors Details	5	\$20.00	Т	\$100.00
		Т	otal Walk to Cock	tail	\$335.00
Cocktail Drape					
	Fabric Treatment for a 12'x27' x 10'H In stock Tamara Como with Two Tone Chiffon Ceiling Matching to have an Outdoor Ceiling Cap- Flat Walls on the outside Ceiling Inside and Walls with Valance on the Inside	1	\$0.00	Т	\$0.00
	Fabric Treatment for a 50'x 85' x 10'H in Stock Tamara Cmoo Velvet with Two Tonw Chiffon Ceiling Mat	1	\$0.00	Т	\$0.00
	Entrance Pullbacks and Valance - Kitchen access and Main entrance access				
	Awning For entrance Tent Hand Painted	1	\$0.00	Т	\$0.00
			Total Cocktail Dr	ane	\$0.00

Description		Qtty	Price		Total
	Custom Made Linen for Mezze station 8'x40"x30"H in Ivory Dupioni Hand-painted	2	\$60.00	T	\$120.00
	Custom Made Linens for Sushi Station 2 - front 8'x40"x40"H 2 Small Back Linens 8'x 24"x30"	4	\$60.00	Т	\$240.00
	Custom Made Table Cloth for Stand up table T&C Tables Ivory Dupioni Hand Painted	5	\$20.00	Т	\$100.00
	Mix and Match Pillows in Sunset Colors In Saffron Monaco- Turmeric Monaco Rust Como	40	\$10.00	Т	\$400.00
		To	otal Cocktails Lin	ens	\$860.00
Cocktail Frunitu	re				
	Garden Club & Lounge Chairs - Shakespeare Garden - Metal Painted in Off white with Details in sunset Colors 24"W x 28"L x 36â® H	4	\$0.00	Т	\$0.00
	Custom Made Cushion Covers for Shakespeare Garden Metal in sunset Colors Rust Velvet Como Base and Back with Piping	4	\$50.00	Т	\$200.00
	Garden Sofas - Sofa With Awning Painted in Off white With Details in Sunset Colors	4	\$0.00	Т	\$0.00
	Custom Made Cushions And Awning Turmeric Monaco - Base Cushion with piping - bolsters With Piping and Awning with Scallop	4	\$450.00	T	\$1,800.00
	Garden Sofas - Dahlia Gardens - Inverted Sofa 2 half only Painted in Off White with Details in sunset Colors 70"W x 23"L x 41"H - Custom Frame & Cushion Color Upon Request	2	\$0.00	Т	\$0.00
	Custom made Covers for Sodas Dahlia Gardens Safron- Como base Cushion and Back Rest all With Piping	1	\$120.00	T	\$120.00
THE	Garden Accent & Coffee Table - Dahlia Gardens - Coffee Table Oval Custom Wood Top / Painted in Off white Color with Details in Sunset Colors 18"W x 36"H - Frame Color Upon Request	12	\$20.00	Т	\$240.00
	Garden Accent & Coffee Table - Dahlia Gardens - Accent Custom Wood Top Painted in Off white With Details in sunset Colors 20"RND x 20"H - Frame Color Upon Request	8	\$10.00	T	\$80.00
	Garden Bistro & Stand Up Tables - Descanso Gardens - Bistro 42"Diam x 29 1/2"H - Frame Color Upon Request	4	\$165.00	T	\$660.00
	Garden Dining Chair - Giardino Dell' Iris - Chair Painted Off white with Details in Sunset Colors 23"W x 22"L x 41"H - Custom Frame & Cushion Color Upon Request	20	\$0.00	T	\$0.00

Description		Qtty	Price		Total
	Custom Made Cushions for Dining Chairs Giradino Dell' Iris Turmeric Monaco	20	\$10.00	Т	\$200.00
		Tot	tal Cocktail Frunit	ture	\$3,300.0
Cocktail Bars					
	Central Bar Painted in Ivory Or Off white base w/ hand painted Details 7-8' Bars 1-12 Bar New 4-30"x30" Pedaestals	1	\$0.00	Т	\$0.0
	Custom Made Barback 14' Long x 3'5" With over all Height 8'H Base Counter to Be 14' x 3'5" W x 36"H Upper SHleved units Double sided 12'x 5'H	1	\$0.00	Т	\$0.0
			Total Cocktail B	ars	\$0.0
Cocktail Lighting	J				
	Mix and match Shades - Existing	40	\$0.00	Т	\$0.0
		To	otal Cocktail Light	ting	\$0.0
Reception Fabrio	;				
	FAbric Treatment. to Cover Reception area in Stock Green Velvet 600'x 19'H Just Rental of Drape will not be Charge \$11,400 only Steaming and Prepping Fabric	1	\$0.00	T	\$0.0
	Custom Made Stage Back Drop Different Height Drapes In green to finalized	1	\$2,500.00	Т	\$2,500.0
		Total Reception Fabric			\$2,500.0
Reception Custo	m Lighting and Panels				
	Custom Made Panels For Behind Booth 36'x 13'2" H To Seat Over the Booth This to have installation off wall paper (MWPC to Provide) wood Finish all the wat around	2	\$1,200.00	Т	\$2,400.0
	Custom Made Chandeliers 6- 5' / 6 - 48" - 6"- 36"	1	\$0.00	T	\$0.0
	Custom Made Half Round Printed FAbric Shadow Boxes 12' x 16'6"H	3	\$6,200.00	T	\$18,600.0
	Custom Made Half Round Shadow Boxes 6'x 16'6"	2	\$3,100.00	Т	\$6,200.0
	Total Reception	on Custom Lighting and Panels			\$27,200.0
Reception Bars					
	Using Existing bars - Re build them to have Fabric Front 25' Wood Top Matching the Rest of the wood in the room with Stripe Fabric Face same as table cloth	1	\$500.00	Т	\$500.00

Description		Qtty	Price		Total
	Using Existing Bars - Re build them to have have Fabric Fronts 10'	2	\$250.00	Т	\$500.00
	Wood Tops Matching the rest of the wood in the room with Stripe Fabric Facade same as table cloth				
	Barbacks 8' x 8' New TBD	5	\$0.00	Т	\$0.00
		Т	otal Reception E	Bars	\$1,000.00
Reception Furnit	rure				
	Custom Made Head Table Curved 19 x 48"	1	\$800.00	T	\$800.00
	Custom made Serp Table	2	\$800.00	Т	\$1,600.00
	Custom Made Pillows in Stripe Fabric For Booth 24 - 20"x20" Stripe with Piping 6 Kidney Stripe with Piping	30	\$10.00	Т	\$300.00
	Custom Made Stripe Table Cloth 72" Round 72" x 30"H	6	\$150.00	Т	\$900.00
	Buffet And Display Tables - Oval - Multicolor	4	\$0.00	Т	\$0.00
	12'W x 48"D x 30"H - Can be custom painted or base covered in fabric				
	Custom Made Table Cloth in Ivory Linen with Stripe Pleat and Piping 12'x 48"x30"H	4	\$250.00	T	\$1,000.00
	Booths - Monaco - Round White Velvet 2pc Set	6	\$0.00	Т	\$0.00
	Custom Made Booth Cover for 6 sets Ivory Velvet Como	6	\$400.00	Т	\$2,400.00
	Custom Made wood Boxes for Booth Painted in Dark wood Matching Panels Around the Room Cost to make is \$3000	6	\$1,500.00	Т	\$9,000.00
	Console Tables - Buenos Aires - Clear 6'W x 18"L x 36" H	4	\$0.00	Т	\$0.00
		Total	Reception Furni	ture	\$16,000.00
Restroom furnit	ure				
	Console Tables - Oval Antique Brass 1 for inside mans 1 for Inside woman 1 For outside or Bride Restroom 48.5" x 15" x 32"H	4	\$0.00	Т	\$0.00
	Wall Mirrors - Milan - Wall Mirror Frame painted Wood Color matching the rest of the Wood at the event 37"W x 75"H - Custom Frame Color Upon Request	3	\$0.00	T	\$0.00

Description		Qtty	Price		Total
	Club & Lounge Chairs - Budapest - Armchair Green Velvet	2	\$0.00	Т	\$0.00
	38"W x 40"L x 36"H				
	Club & Lounge Chairs - Budapest - Armchair Yellow Velvet 02	1	\$0.00	Т	\$0.00
	28"W X 39"L X 34"H				
	Club & Lounge Chairs - Budapest - Armchair Yellow Velvet & Burlap	1	\$0.00	Т	\$0.00
	28"W X 33"L X 39"H				
	Area Rugs - Cotton Chenille Distressed Print Rug W/ Fringe	2	\$0.00	Т	\$0.00
	5' x 7'				
	Accent Table - Boston - Granite Round	2	\$0.00	Т	\$0.00
		Total	Restroom furn	iture	\$0.00
after Party					
4	Shelves - Luna Mahogany Barback 19"W x 72"L x 91"H - Color Upon Request	3	\$0.00	Т	\$0.00
	19 W X 72 L X 91 11- Color Opon Request				
	Accent Tables - Bucharest - Brass & Mirror 19.25"W x 16.5"D x 24.75"H	4	\$0.00	T	\$0.00
	Small Dining Tables - Antique Brass Round	4	\$0.00		\$0.00
	40"Diam x 30"H	•	ψο.σσ	•	ψ0.00
	Dining Chairs - Antique Brass Finish Metal Wishbone Cushion in Custom Color 18" x 18" x 31.5"H	16	\$0.00	Т	\$0.00
	Mix and Match Pillows in Stock	30	\$0.00	Т	\$0.00
	Dj Booths - Santa Barbara - Moulding - Multicolor	1	\$0.00	Т	\$0.00
	47"W x 25"D x 48"H				
	Sofas - Toulouse - Love Seat - Green Velvet 01 60"W x 31"L x 35"H	1	\$0.00	Т	\$0.00
	Sofas - Toulouse - Love Seat - Green Velvet 02 45" x 34" x 36"	1	\$0.00	Т	\$0.00
	Sofas - Venice - Green Velvet 3	2	\$0.00	Т	\$0.00
	7'W x 33"L x 38"h				

Description		Qtty	Price		Total
	Sofas - Venice - Green Velvet 4 8'W x 33"L x 36"h	2	\$0.00	Т	\$0.00
	Coffee Tables - Bucharest - Brass & Mirror 44.5"W x 24.75"D x 20.5"H	3	\$0.00	Т	\$0.00
	Club & Lounge Chairs - Toulouse - Accent Chair - Green Velvet 29"W x 30"L x 37"H	2	\$0.00	Т	\$0.00
	Club & Lounge Chairs - Toulouse - Accent Chair - Green Velvet 1	1	\$0.00	Т	\$0.00
	28"W x 34"L x 39"H				
	Club & Lounge Chairs - Toulouse - Accent Chair - Green Velvet 2 28âN N W28âN N x37âN N H	1	\$0.00	T	\$0.00
	Club & Lounge Chairs - Toulouse - Club Chair - Green Velvet 1	1	\$0.00	T	\$0.00
	30"W x 28"L x 38"H				
	Club & Lounge Chairs - Toulouse - Club Chair - Green Velvet 2	1	\$0.00	T	\$0.00
	30"W x 28"L x 36"H				
	Club & Lounge Chairs - Venice Arm Chair Green Velvet 4 32âN N âN X 802âN N âN X 49âN N âN N H	2	\$0.00	T	\$0.00
	Club & Lounge Chairs - Venice Arm Chair Green Velvet 3 32"W x 33"L x 44"H	2	\$0.00	Т	\$0.00
	Bars - Santa Barbara - Square Molding 8' Painted in Dark Wood 8'x 30"x 42"H	3	\$0.00	Т	\$0.00
			Total after Pa	rty	\$0.00
Services					
	installation Day 1	12	\$600.00		\$7,200.00
	installation day 2	12	\$600.00		\$7,200.00
	Installation Day 3	12	\$600.00		\$7,200.00
	Change Over Crew	6	\$450.00		\$2,700.00
	Strike Team	14	\$600.00		\$8,400.00
	Transportation	4	\$0.00		\$0.00
	Flame Proofing	1	\$2,500.00		\$2,500.00
	Artist- this price will be adjusted once we finalized details (2 artist painting for a Week	1	\$7,500.00		\$7,500.00
	Pre Production- Painting - Pulling Furniture & Prep Fabric Loading Trucks,etc	1	\$25,000.00		\$25,000.00

Description	Qtty	Price	Total
Social media to Be on site	1	\$0.00	\$0.00
Manager on site	1	\$0.00	\$0.00
Please make checks payable to Revelry, Inc.		Total Products:	\$53,695.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full	Total La	bor/Services/Misc:	\$67,700.00
Please ready the contract and sign it	W	ear & Tear (0.00%):	\$0.00
,		Packing (2.00%):	\$1,067.50
Notes	Ta	axes (tax excempt):	\$0.00
		Discounts:	(\$320.00)
		Total:	\$122,142.50
		Payments:	(\$0.00)
		Balance:	\$122,142.50